Light Blue-
3. Proclamation Line of 1763. Quebec Act. Britain's end of Salutary Neglect for economic reasons.
13. Support from allies such as France. Britain could no longer afford war. America was gaining the likelihood of winning the war.
25. War, baby boom, immigration, woman rights to work
37. The market gives producers an incentive to produce goods that consumers want, The market provides an incentive to acquire useful skills, the price system encourages producers and consumers to conserve scarce resources. Disadvantages-A private market economy may be quite unstable (unemployment, inflation, growth) Business may simply satisfy the wants they have created through advertising. Prices may give false or inadequate signals to producers and consumers (externalities, like pollution). 
49. the Mexican war occurred the Polk presidency.
61. Hearst, although he championed many worthy causes, exploited the media. He involved himself in the messy battle with Pulitzer which showed his tainted motivations. He tried to make changes by reaching as many people as possible through the press. He didn't usually have direct contact with the people he influenced. Jane Addams on the other hand sought to make changes on a more personal level by founding the Hull House. She was deeply dedicated to uplifting struggling urban people and was motivated by a desire to make a change. She effected people personally through direct contact.
73. This movement was successful because its goals were to stop monopolies, corruption, inefficiency, and social injustice. The method of the progressives was to strengthen the state—to give more powers to the government. A modern industrial society seemed to call for more government action and to take a step back from pure, laissez-faire capitalism. This change in government view accompanied the days of imperialism which allowed for this movement to successfully sprout from the Populist and Greenback parties. Books such as Henry Demarest Lloyd's "Wealth Against Commonwealth," struck at the Standard Oil Company's corruption as well. 
85. World War I was a transformative moment in African-American history. What began as a seemingly distant European conflict soon became an event with revolutionary implications for the social, economic, and political future of black people. The war directly impacted all African Americans, male and female, northerner and southerner, soldier and civilian. Migration, military service, racial violence, and political protest combined to make the war years one of the most dynamic periods of the African-American experience. Women also gained more respect to which they didn’t have prior to the war since it showed they can do a man’s jobs.
97. He wanted to pack the courts in order to pass as many laws as possible during his presidency. Historians look at his first 100 days and say he’s done for the country in his first 100 days then most presidents in their entire term.
109. The US wanted to show japan who the stronger nation was along with ending the war. This choice was criticized because it destroyed part of a nation and killed many people along with starting the nuclear race with Russia. 
121. Johnson had been the US Senate Majority leader which gave him tremendous power in the Legislature. He also had tremendous personal power of persuasion, giving people 'the treatment' (begging, bribing) when he wanted something.
133. The boy band craze began the tradition of making sex gestures in the performer’s appearances 

3. In what three ways did the Seven Years' War directly affect the colonists' growing discontent toward the British?

-They had so much debt and taxed colonists for it
-They made them fight a war they didn't want to be apart of
-They lost many lives 
13. What factors contributed to America being able to win the Revolutionary War?

-They knew the land better than the British
-They had better generals

25. What four factors led to increased national growth during the first two decades of the 19th century?

-Industrialization 
-Europeans came over for jobs
-They also came over for religious freedom
-people came over for a better life
37. What are the positives and negatives of a market economy?

Positives: free price system 

Negatives: based on supply and demand; what if that was low? 
49. What major events occurred during the Polk presidency?

-Mexican War

61. Compare the motivations and methods used by Jane Addams and William Randolph Hearst in fixing the problems of the Gilded Age?
-Jane Addams created a settlement house for the really poor people/immigrants living in the slums. The house was called Hull House in Chicago. 
-Hearst re-made the newspaper into sensationalism (yellow journalism). He created the New York Journal. It covered the conflict between Cuba and Spain and helped rouse public support for the Spanish-American War.

73. Why was the Progressive Movement successful while the Populist Movement failed?
-Progressive Movement Success: publicity of muckrakers, Interstate Commerce Act and the Sherman Antitrust Act.
-Populist Movement Failure: The confusion among the parties members, also some member agreed with the Democratic party the others did not.
85. How did World War I affect African-Americans and women?

- African-Americans: many africans enrolled in the U.S. military, yet they still faced segregation.
-Women: many women stepped up and took roles of the men while they were at war, they worked in factories and with organizations such as the red cross.

97. Why did Roosevelt attempt to “pack” the courts and what was the reaction to this choice?
-FDR's purpose in attempting to pack the courts was to increase the efficiency of the judiciary but the plan caused opposition.

109. Why did America drop the atomic bombs?  Why was this choice criticized?
-Because Japan refused to surrender and to prove to the rest of the world how powerful they are.
-It was criticized because many people died then there need to be and it destroyed so much.

121. To what extent was Johnson more successful with his social programs than Kennedy?
- Johnson’s social programs were very similar to the New Deal. Both the New Deal and Great Society used the government to enhance social welfare.

 3. In what three ways did the Seven Years’ War directly affect the colonists’ growing discontent toward the British?

The end of salutary neglect led to Britain wanting to seize more control of its colonies. During salutary neglect, many Americans developed a sense of independence and didn’t want to be looked over by a mother country. The Proclamation of 1763 also caused discontent between the colonists and the British because it forbade them from settling the land they fought to get. Lastly the Townshend Acts, a series of different taxes incurred onto the colonists by Britain in order to pay off the war made the colonists even more infuriated with Britain.  

12. What factors contributed to America being able to win the Revolutionary War?

The colonists had superior leadership, such as George Washington, Benedict Arnold etc. They were fighting a defense war compared to Britain and could command their military from home unlike Britain which was an ocean away. Finally, French aid that came in the form of money, ships and soldiers contributed to them winning the war. 

24. What four factors led to increased national growth during the first two decades of the 19th century?

The Louisiana Purchase, improvement of transportation, an industrial revolution and better communication that occurred in the first two decades. 

36. What are the positives and negatives of a market economy?

Some positives include incentive to create goods wanted by the consumer, competition keeps businesses efficient, driving the price down and keeping production high, and gives people plenty of economic freedom. Some negatives include the rise of monopolistic industries that drive prices up, an unstable form of economy at times (unemployment, inflation etc.), and uneven distribution of wealth (large gap between rich and poor).

48. What major events occurred during the Polk presidency?

The Mexican War, the rapid growth of Manifest Destiny, annexation of Texas and California, and the Oregon Treaty took place. 


60. Compare the motivations and methods used by Jane Addams and William Randolph Hearst in fixing the problems of the Gilded Age?

Jane Adams was motivated because she wanted to help the new immigrants assimilate smoothing into the American lifestyle. She did this by founding settling houses, the most famous one the Hull House, that offered babysitting and other services for immigrants. Hearst on the other hand was motivated by money. He used Yellow Journalism to make news “exciting” in a deceitful way. 

72. Why was the Progressive Movement successful while the Populist Movement failed?

The Populist Movement failed for a number of reasons. Supporters consisted of mainly poor farmers that were too scattered to come together to inspire change. They also lacked the time and money to worry about things like that and had issues with other supporters. The Progressive Movement was successful in contrast to the Populist Movement because it consisted of mainly –middle-class people that had the time and money for this. It was also easier because it was in a urban setting.  

84. How did World War I affect African-Americans and women?

Many African Americans moved from the South to the North to work in factors (also a trend in WWII) in what was called the Great Migration and joined the military to fight. Women also moved from their traditional jobs at home to work in the factories making munitions and even enlisted in the military as nurses etc.

96. Why did Roosevelt attempt to “pack” the courts and what was the reaction to this choice?

 Most of the legislation he passed in accordance to his New Deal was declared unconstitutional. His plan was to try and take control of the court to get the legislation he wanted passed. This shocked many people including some in his own party and was viewed as him abusing his power. 

108. Why did America drop the atomic bombs?  Why was this choice criticized?

To save American lives by not having to invade Japan on land. Many believe that it was immoral because of how many innocent civilians were killed. 

120. To what extent was Johnson more successful with his social programs than Kennedy?

Johnson was more successful because it was very similar to the New Deal. Both the New Deal and Great Society used the government to enhance social welfare. Included were government-sponsored employment programs, encouraged housing construction and also helped the elderly. Added to the Great Society were educational programs, such as preschool education programs for the disadvantaged. Johnson also signed legislation protecting civil liberties for African Americans.

132. To what extent did the boy band craze of the late 1990s represent all that is wrong with America?

Many Americans were gearing away from religion and more towards how we are today. 
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